450222830037 HANSAPINTO - Wastafelkraan

EAN: 4057304004308
static.nansa.com /450222830037

Reserveonderdelen
SP45052283
Naam Code
01 Hendel Chroom 59914453
02 Kap Chroom 59914478
03 Schroefring, M42x1.5, SW 38 59914128
04 Binnenwerk, 4.0 Classic 59914129
05 Bevestigingsschroeven, M8x1, L=130 59914474
06 Bevestigingsset 59914475
07 Mousseur, M24x1, 6 L/min Chroom 59914476
08 Wasser 59914591
09 Nippel 59914133
N.I. Flexibele aansluitingen, L=375, G3/8-M10x1 59914188
NI Wastegarnituur, (2019-) Chroom 59914764
Reserveonderdelen
SP450222830037
Naam Code

1 Hendel Chroom 59914453
2 Kap Chroom 59914478
3 Schroefring, M42x1.5, SW 38 59914128
4 Binnenwerk, 4.0 Classic 59914129
5 Bevestigingsschroeven, M8x1, L=130 59914474
6 Bevestigingsset 59914475
7 Mousseur, M24x1, 6 L/min Chroom 59914476
8 Wasser 59914591
N.I. Flexibele aansluitingen, L=375, G3/8-M10x1 59914188
N.I. Schroef, M4x8 59914512
NI Sierdop 59914513

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

1


https://static.hansa.com/450222830037

